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1 Built-in Stabilizer, 2 Liquidity Téap. 3[Misery Index, 4 Economic Rent, S Kinked
Demand curve
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= + (10%)Assume that an entrepreneur’s short-run total cost function 1s:

C=q'—10q" +179+66

—

Assumne the output price P =35
1. Determine the output level at which he maximizes profit
2. Compute the out fﬂaslici[}.} oficost at this gutput level

g » {15%)In the economy 0 Jand: Autbnomous consumption expenditure is $100

government purchases of gdods yiu arg $400 billion, and net taxes are 4

constant $400 billion- they do norvary with ingome. Zeeland has no imports or

exports.

| What is the size of multiplier”

2. Calculate equilibrium expenditure

3. If investment falls to $360 billion, what is the change in equilibrium expenditure?
— | —
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i + (5%)If your total utih inare L/ =/ XV, where X' and I aretwo

billion, and the marginal pmper}v_-r to|consume is 0.9 Investment 15 $460 billion.

goods, The price of X is $J0 agl he price of 'is $20. You have income $240
Compute the maximum utility thit you can-achieve
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75 +(5%)Assume fixed cost is constant. If product amount are 200 units, the difference

between average total cost and avetage m cost is 32 When the product amount

are 300 units, what is the difference ‘krct\ricn verage total cost and average variable

AL

4= - {10%4)The production of barstool is characterized by a production function of the
form,

Q=AK"L", 0<a<l, 0<f <l

Prove MP, >0 MFP, >0, MP, <0, MF, <0, =1

Where: = = EL

MP, and MF, are the inal prpduciivity of labor and capital

o is the elasticity of substitjition — J

J, + (10%)The utility functign is ‘17 = X™ |+ 1~ where X and V' are two goods,
The price of X is P, and iR price of/is/P. You have income M Derive the
Marshallian demand function of X




